Locking Center Console

1976-1995 CJ & Wrangler

PARTS INCLUDED TOOLS NEEDED

Leveling Bracket* 1 each Electric Dril
#8 x 3/4" Philli e o) h e

X 3/ lips pan screws eqc 3/16" Dril Bit
#14 x 1 3/4" Pnillips pan screws 3 each Phillips Screwdriver

* tems not required for CJ5 Owners

1, Place the console between the front seats.

2. Move the console as far forward as possible, but make sure that the gear shift clears it in all of its
gear positions.

FOR CJ5 OWNERS ONLY:

3. Remove the front cup holder and the floor lining from the console . Drill one 3/16" hole through the
console floor and vehicle floor panel. Secure with one # 14 x 1 3/4" screw. Replace the lining and
cup holder.

4. In the rear compartment of the console, drill two 3/16" holes through the conscle floor and
through the vehicle fioor panel. Secure with two #14x1 3/4" screws.

FOR OTHER JEEP" OWNERS OTHER THAN CJ5:

3. Raise the rear of the console and place the leveling bracket under the rear of the console with the
legs of the brackets placed on the floor, Adjust the bracket until the console is level between fhe
seats, Mark the position of the leveling bracket on the bottom of the console and remove the
console and the leveling bracket.

4, Use two #8 x 3/4" Phillips pan screws to install the bracket fo the botftom of the console. Reinstall
the console between the front seats and adjust from front to rear as in step # 2.

5, Mount the leveling bracket o the fioor by driling four holes in the floor with a 1/8" diill bif. Screw
the bracket down using four #8 x 3/4" Phillps pan screws,

6. Remove the front cup holder and the floor fining from the console. Drill two 3/16" holes through the

console floor and vehicle floor panel. Secure with two # 14 x 1 3/4" screws. Replace lining and
cup holder.

Learn more about interior parts on our website.


https://www.carid.com/interior-parts.html
https://www.carid.com/rampage/



